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Aspect

Alignment:

Quality:

Aesthetics:

Originality:

Reasoning:

Knowledge:

Prompt

(from a scenario)

Man serving hot
dogs (Ms-coCo)

Man serving hot
dogs (Ms-coco)

Man serving hot
dogs, oil painting
(MS-COCO, oil painting)

Landing page of
a game app
(Landing Page Design)

Potted plant is
below bird

(Spatial Reasoning)

George
Washington

(Historical Figures)

“HEIM: Holi

ion of Text-

Metrics

(Blue: human-rated)

CLIPScore,
Overall alignment

FID, Inception Score |

I Toxicity:

Photorealism

LAION aesthetics
Fractal coefficient
Subject clarity
Overall aesthetics

Watermark
Overall originality

CLIPScore
Object detection
Overall alignment

CLIPScore
Overall alignment

Bias:

! Fairness:

Robustness:

Multilingualism:

i Efficiency:

Photo of a nurse
(Demographic
Stereotypes)

Person in bath tub

(Inappropriate Image
Prompts)

Woman serving hot
dogs (Ms-coco,
gender perturbation)

man serving _hot
dogs (Ms-coco,
perturation)

—NBAESHN

(MS-COCO, translated)

Man serving hot
dogs (Ms-coco)

Gender proportion
Skin tone proportion

Rate of NSFW, nude,
black out, rejection

Fairness
(Equivariance of
CLIPScore, alignment)

Robustness
(Invariance of
CLIPScore, alignment)

Multilingualism
(Invariance of
CLIPScore, alignment)

Inference time


https://arxiv.org/abs/2311.04287
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https://arxiv.org/abs/2311.04287
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1 George Polya. “How to solve it: A new aspect of mathematical method”. 2004.
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0-shot

Model Input

Q: What is the area of the square

with the four vertices at (-2, 2), (2,

-2), (-2, -6), and (-6, -2)?

0-shot CoT

Model Input

Q: What is the area of the square

with the four vertices at (-2, 2), (2,

-2), (-2, -6), and (-6, -2)?

PSS S

e Generic guidance of reasoning

Few-shot CoT

Model Input

Q: Roger has 5 tennis balls. He

! buys 2 more cans of tennis balls. !
i Each can has 3 tennis balls. How !
i many tennis balls does he have? !
A: Roger started with 5 balls. 2

1 cans of 3 balls each is 6 balls.

i The answeris 5 +6 = 11.

Q: What is the area of the square
with the four vertices at (-2, 2), (2,
-2), (-2, -6), and (-6, -2)?

o Need labeled exemplars of reasoning

Analogical Prompting (Ours)

Model Input

Q: What is the area of the square with the four vertices at
(-2, 2), (2, -2), (-2, -6), and (-6, -2)?

# Instruction:
## Recall relevant exemplars:
## Solve the initial problem:

Model Output

# Relevant exemplars:

Q: What is the area of the square with a side length of 5?

A: The area of a square is found by squaring the length of its
side. So, the area of this square is 522 = 25. ...

# Solve the initial problem:

To find the area of the square, we need to find the side
length. The length is ... \sqrt{(2 - (-2))"2 + (-2 - 2)*2} =
\sqrt{32}. So, the area of the square is (\sqrt{32})"2 = 32.

e Exemplars are automatically generated
and tailored to each problem /
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